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(a) An = 19 *D

(b) Br is not defined 1
p

x)xA =(0on) Ap

(d)vTB = 103-2 Ap

(e)u+An =12 AP

(f) vTBA =( - 38 - 7) Ap

P2

ATA = AAT =I; A orthogona 3p

x
=A(t) 2p

x =(w2-5a C
T

- -2 AP

Alternate: Gauce 2p

U 2p
x =... 2p
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Alternate: Form ATA 2p

Gave 2p
N(ATA) 2p



Pa PA =2 -14

(8 =3)
v =( =1)- u =Coe i Ii 2p
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Alternate: (b compute ATA Ap
det (ATA) with any
method of choice Ap

(C) similarly

P6Ax =xx, xt0,x70, A exists. Ap

A
-Ax =A

-(xx)==> A
-x =Ex2p

A
A- x =A(Ex)
EA

-x = EX 2p

= A3x =Exx F Ap


